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1. Scattering of a-particles by a thin gold
foil suggests the presence of

(a) electron in an atom

(b) proton in an atom

(c) positively charged nucleus at the
centre of an atom

(d) isotopes of gold

2. The elements of which of the following
pairs are isobars?

(a) 1H and 3H
1 1 

(b) 1H and 2 H
1 1 

(c) 12 C and 14 C
6 6 

(d) 40 Ar and 4o Ca
18 20 

3. Which one of the following chemical
reactions is not feasible?

(a) Fe +CuS0
4 

➔ FeS0
4 

+ Cu

(b) Zn+ CuS0
4 

➔ ZnS0
4 

+ Cu

(c) Cu+ PbC1
2 

➔ CuC1
2 

+ Pb

(d) Mg+CuS0
4 

➔MgS0
4 

+ Cu

4. A solution having pH equal to zero is
known as

(a) highly alkaline solution

(b) highly acidic solution

(c) weakly acidic solution

(d) neutral solution

5. Which one of the following acids is
produced in human stomach?

(a) Formic acid

(b) Sulphuric acid

(c) Nitric acid

(d) Hydrochloric acid
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6. Match List-I with List-II and select the
correct answer using the code given
below the Lists 

List-I 

(Compound) 

A. Boric acid

B. Citric acid

C. Magnesium
hydroxide

D. Acetic acid

Code: 

(a) A

1

(b) A

1

(c) A

4

(d) A

4

B 
2 

B 
3 

B 
3 

B 
2 

C 

3 

C 
2 

C 
2 

C 

3 

List-II 

(Use) 

1. Antiseptic

2. Food
preservative

3. Antacid

4. Pickle

D 

4 

D 

4 

D 

1 

D 

1 

7. The property of the sound waves that
determines the pitch of the sound is its

(a) frequency

(b) amplitude

(c) wavelength

(d) intensity

[P.T.O. 



8. Which one of the following is not a 
property of the X-rays?

(a) They are deflected by electric fields.

(b) They are not deflected by magnetic
fields.

(c) They have high penetration length
in matter.

(d) Their wavelength is much smaller
than that of visible light.

9. Which one of the following is not true
about the image formed by a plane
mirror? 

(a) It is of the same size as the subject.

(b) It is laterally inverted.

(c) It is real image.

(d) It is formed as far behind the
mirror as the object is in front.

10. In a periscope, the two plane mirrors
are kept

(a) parallel to each other

(b) perpendicular to each other

(c) at an angle of 60° with each other

(d) at an angle of 45° with each other 

11. If the speed of light in air is 3 x 108 m /s, 

then the speed of light in a medium of
refractive index ! is 

(a) 2 x 108 m/s

(b) ¾ x 108 m/s

(c) g_ x 108 m/s
2 

(d) 3x 108 m/s
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12. Which one of the following types of
radiation has the shortest wavelength?
(a) Radio waves
(b) Visible light
(c) Infrared (IR)
(d) Ultraviolet (UV)

13. The unit of the force constant k of a
spring is
(a) N-m

(c) N-m 2 

(b) N/m

(d) N/m 2 

14. Which one of the following is not an
epidemic disease?
(a) Cholera
(b) Malaria
(c) Smallpox
(d) Elephantiasis

15. Which one of the following animals has a
three-chambered heart?
(a) Scoliodon
(b) Salamander
(c) Pigeon
(d) Human being

16. Which one of the following is the correct
sequence of events during sexual
reproduction in plants? 
(a) Seedling, formation of embryo,

pollination, fertilization, division of
zygote

(b) Formation of embryo, seedling,
pollination, fertilization, division of
zygote

(c) Pollination, fertilization, division of
zygote, formation of embryo,
seedling

(d) Seedling, formation of embryo,
division of zygote, pollination,
fertilization
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17. When air is blown from mouth into a

test tube containing limewater, the

limewater turns milky. This is due to 

the presence of 

(a) water vapour

(b) oxygen

(c) carbon dioxide

(d) carbon monoxide

18. Which one of the following is the 'energy

currency' for cellular processes?

(a) Glucose

(b) ATP

(c) ADP

(d) Pyruvic acid

19. Which one of the following is the

first enzyme to mix with food in the

digestive tract? 

(a) Trypsin

(b) Cellulose

(c) Pepsin

(d) Amylase

· 20. Mahatma Gandhi's Dandi March, a great

event in Indian freedom struggle, was 

associated with 

(a) iron

(b) sodium chloride

(c) sulphur

(d) aluminium
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21. Match List-I with List-II and select the

correct answer using the code given

below the Lists 

List-I 

(Name) 

List-II 

(Formula) 

A. Bleaching powder 1. NaHC03

B. Baking soda

C. Washing soda

D. Slaked lime

Code: 

(a) A

(b) A

4

(c) A

3

(d) A

3

B 

1 

B 

2 

B 

2 

B 

1 

3. Ca(OH)2

4. CaOC12

C 

2 

C 

1 

C 

1 

C 

2 

D 

3 

D 

3 

D 

4 

D 

4 

22. The number of water 

associated with copper 

molecule to form crystals is 

(a) 2

(b) 4

(c) 5

(d) 6

molecules 

sulphate 
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77. The work Siyar-ul-Mutakherin, which

describes the Battle of Plassey, 1757,

was written by 

(a) Salabat Jung

(b) Qasim Khan

(c) Ghulam Husain

(d) Ram Mohan Roy

78. Who believed that the Russian designs

were 'an imminent peril to the security

and tranquility' of the Indian Empire 

in 1836? 

(a) Lord Auckland

(b) Lord Palmerston

(c) Lord Canning

(d) Alexander Burnes

79. The 'Tattvabodhini 

established by 

Sabha' 

(a) Devendranath Tagore in 1839

(b) Keshab Chandra Sen in 1857

(c) Akshay Kumar Datta in 1850

(d) Dwarakanath Tagore in 1840

was 

80. What was the code name given to the

first ever tri-service military exercise

between India and USA? 

(a) Lion Triumph

(b) Elephant Triumph

(c) Tiger Triumph

(d) Bison Triumph
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81. 'Naropa' is an annual festival of

(a) Sikkim

(b) Ladakh

(c) Arunachal Pradesh

(d) Nagaland

82. Which one of the following is India's

official entry for the Best International

Feature Film category in the 

92nd Academy Awards? 

(a) Bulbul Can Sing

(b) Super Deluxe

(c) Gully Boy

(d) And The Oscar Goes To

83. The Global Goalkeeper Award is given by

(a) the Bill and Melinda Gates 

Foundation 

(b) the United Nations Environment

Programme

(c) the Kellogg School of Management

(d) the World Meteorological Organi­

zation

84. 'Gandhi Solar Park' is located at

(a) New York

(b) Vladivostok

(c) Thimphu

(d) Houston

85. Who among the following was the first

to arrive in Africa as traders that

eventually led to European colonization 

of Africa? 

(a) French

(b) Spanish 

(c) Portuguese

(d) Dutch

[P.T.O. 



86. The College 
affiliated 

of Military Engineering 
to Jawaharlal Nehru 

University is situated at 

(a) New Delhi

(b) Dehradun

(c) Nainital

(d) Pune

87. Which of the following statements with

regard to Coal India Limited (CIL) is/are

true? 

1. CIL has its headquarters at
Kolkata.

2. CIL operates through 82 mining

areas spread over twenty provincial

States of India.

3. CIL is the single largest coal­

producing company in the world.

Select the correct answer using the code 
given below. 

(a) 1 only

(b) 1 and 3 only

(c) 2 and 3 only

(d) 1, 2 and 3

88. Which one of the following climatic types

is found in Central Spain?

(a) Subarctic

(b) Mediterranean dry hot summer

(c) Subtropical Steppe

(d) Humid continental warm summer
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89. Which one of the following is not among

the principal languages of Jammu and
Kashmir? 

(a) Urdu

(b) Gujari

(c) Koshur

(d) Monpa

90. The major part of Central Asia is
dominated by which one of the following
language families? 

(a) Inda-European

(b) Sino-Tibetan 

(c) Austric

(d) Altaic

91. Which one of the following Articles was

defended by Dr. B. R. Ambedkar on the

plea that it would be used as 'a matter 
of last resort'? 

(a) Article 352

(b) Article 359

(c) Article 356

(d) Article 368

92. What is the ground on which the
Supreme Court can refuse relief under

Article 32? 

(a) The aggrieved person can get 

remedy from another court 

(b) That disputed facts have to be 

investigated 

(c) That no fundamental right has

been infringed

(d) That the petitioner has not asked

for the proper writ applicable to

his/her case

[P.T.O. 









116. Suppose an agricultural labourer earns

� 400 per day in her village. She gets a

job to work as babysitter in a nearby

town @ "700 per day. She chose to 

work as agricultural labourer. Which 

one of the following is the opportunity 

cost of the agricultural labourer? 

(a) � 1,100

(c) "400

(b) �700

(d) "300

117. Match List-I with List-II and select the

correct answer using the code given

below the Lists 

List-I 

(Market 

structure) 

A. Perfect

competition

B. Monopoly

C. Monopolistic

competition

D. Oligopoly

Code: 

(a) A

4

(b) A

4

(c) A

2

(d) A

2

1. 

2. 

3. 

4. 

B 

3 

B 

1 

B 

1 

B 

3 
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List-II 

(Characteristic) 

Only one producer 

selling one commodity 

Few producers selling 

similar or almost similar 

products 

Many producers selling 

differentiated products 

Many producers selling 

similar products 

C D 

1 2 

C D 

3 2 

C D 

3 4 

C D 

1 4 

35 

118. Which one of the following was the host

country for World Tourism Day, 2019?

(a) USA

(b) India

(c) Russia

(d) Canada

119. BRICS Summit, 2020 will be hosted by

(a) India

(b) China

(c) Russia

(d) Brazil

120. The Government of India has recently

constituted a civilian award in the

name of Sardar Vallabhbhai Patel in 

the field of contribution to 

(a) unity and integrity of India

(b) art and culture

(c) social work

(d) entrepreneurship

[P.T.O. 
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